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Honors Geometry Name:

Semester 2 Final Exam Review
Target 6A. Perform dilation with a given center and scale factor on a figure in the coordinate plane.

1) What are the coordinates of the image under dilation with center at the origin of scale factor 1/3?
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2)  What are the coordinates of the image under dilation with center at the origin of scale factor 2?
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Target 6B. Verify the characteristics of dilations.

3} Whatis the scale faétor of the dilation (with center at the origin) shown below?
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Target 6C. Define similarity using rigid motions and dilations

For questions 4 — 7 answer Always, Sometimes, or Never.

4)  If the vertex angles of two isosceles triangles are congruent, then the triangles are similar.
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5) If two triangles are congruent, then they are similar.
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6) If two triangles are similar, then they are congruent.
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7} If three angles of one triangle are congruent to three angles of another triangle, then the triangles are
similar.
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Target 6D. Identify corresponding sides and corresponding angles of similar figures by demonstrating that
in a pair of similar triangles, corresponding angles are congruent.

Use the diagram below to answer question 8 and 9.

7 GXE & xte A 5
8} Given AABC ~ ADEF, find the value of x and y. ¢ &
AB L BC AC A Y [ X
PE = OPFE b
pe PP \;Z:L"v""‘-’ C E 4 F

Yok o Gy T oy B 6
NG :ﬁ i =36

9) What is ratio, in simplest terms, of corresponding sides from the smaller triangle to the bigger triangle?
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10) Using the diagram on the right, find the value of x.
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Target 6E. Determine that two figures are similar by verifying that angle measures are preserved and
corresponding sides are proportional.

For problems 12 - 15, determine If the triangles are similar state the reason why. Then, write the similarity

statement.
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Target 6G. Use theorems, postulates, or definitions to prove theorems about triangles.

Use the diagram below to answer question 15.
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17) Given APQR ~ABAC, AB=6,PR=12,PQ =9, and QR =15, find AC.
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18) Given QS bisects £ PQR, find QP.
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19) The light from an 18 foot street light creates a 4 foot shadow in front of a 6 foot sign. How far is the sign

from the lamppost? Draw a picture. . S L= XEY
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Use the triangle on the right to answer questions 20 and 21. Decide whether >, <, =, or inconclusive gives a
correct statement comparing the quantity on the left to the quantity on the right. Figures are drawn to scale.
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22}  Write the trigonometric ratio of cos A. A
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24}  Find the exact value of x.
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25) From the given triangle, find the mZA rounded to the nearest tenth.
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26} At a point on the ground 50 feet from the foot of a tree, the angle of elevation to the top of a tree is 48°.
Find the height of the tree. .
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Target 7G: Calculate the area of a triangle using the formula A = %ab + sinC using any angle of the triangle.

27) Find the area of triangle JKL to the nearest tenth. J
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28) The area of APQR is 102 cm”. If PQ = 11cm and PR = 19 cm, find the measure of ZP to the nearest
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Target 7H: Derive the Law of Sines and Law of Cosines and use them to solve real worid problems.

29) Karina wants to calculate the distance a park is located from her school. She makes two angle
measurements from 7 miles apart as represented by the triangle below. To the nearest tenth of a mile,
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Target 7I: Distinguish between the Law of Sines and Law of Cosines, and use them to find unknown angles
measures in triangles. 122 g0
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Target 8A: Prove that all circles are similar using transformations.

31} Given Circle C and Circle D, what type of transformation would show that the larger circle is smnia@)
the smaller circle?

Circle C with center (-2, 4) and radius 3
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. Circle D with center (-2, 3) and radius 5.
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Target 8B8: Describe the relationship between a central angle , inscribed angle, and circumscribed angie and

the arc they intercept.

Use the diagram and the given information for problems 32 — 36.

Given: Circle E is inscribed in ASYA and ml\fﬂ_f =116°
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Target 8C: Given a triangle, construct an inscribed circle and a circumscribed circle.

37) A circle is circumscribed about a right triangle with side lengths of 9, 40, and 41. What is the radius of

the circle? SN

38) List the steps to construct an inscribed circle.
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39) List the steps to construct a circumscribed circle.
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Target 8D: Explain and utilize the properties of arcs.

40) Incircle K, m£BAD = 24° and AB=BC. Find the measure of /B.
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Target 8E: Identify the center and radius of a circle given its equation in standard form.

41) What is the standard equation of a circle with center (-66, 13) and a radius of 127
('X“" h)?— + {\(“lﬁ)?““m y’?- ::> (X”“(*GG))LTCY"‘}JS” L”flw 5
D X F L) (- =Y

Target 8F: Define and identify a tangent line and construct a tangent line from a point outside the circle.

42) BA and BC are tangent segments. BC=2x+5, AB = 7x — 30, and OA = 4x — 3. What is the circumference

of circle O?
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Target 9A: Inscribe a regular polygon in a circle and break it into many congruent triangles to find its area.

Target 9B: Explain how to use the dissection method on regular polygons to generate an area formula for
regular polygons. A - ,%:@.P
43} Find the area of the inscribed equilateral triangle with apothem of 8.
i e -L k! 3 ]
fe & = opo Fhevn /A\ 2(8)@(% \{33 ) s
300 i S(H')C qu \[’g‘ } " iq Z\Eg Uﬂlgﬁ
A EY :

‘P; 3({(&7 \@—)
= qe\3

Cew we. e lve -%'krs Qs Fhayn WERA ?
44)  Find the area of the inscribed regular hexagon with side length 16.
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Target 9C: Calculate the base area and volume of prisms, cylinders, pyramids, and cor;fz‘s.

e Understand that the formula of a pyramid is 1/3 the volume of a prism with the same base
area and height.

o Understand that the volume of a cone is 1/3 the volume of a cylinder with the same base
area and height.

45) The diameter of the base of a cone is 22 while the height of the cone is 5. Find the volume of the cone.
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46} The square pyramid below has a volume 1875 m? and height 9. What is the value of 5?
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Target 9D: Explain that the volume of a pyramid is 1/3 the volume of a prism with the same base and same
height and that the volume of a cone is 1/3 the volume of a cylinder with the same base are and height

48) A prism has a base area of 99 mm?® and a height of 17 mm. What is the volume of the pyramid that has
the same base and height?
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Target 9E: Rotate a 2D figure and identify the 3D object that is formed.

49)  What 2D plane figure can be rotated around the line to create the following 3D solid? Draw the figure.
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Target 9F: Identify the shapes of 2D cross-sections of 3D objects.

Use the following pyramid for questions 50 and 51.
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50) Draw the 2D figure that is the vertical cross section {through the vertex) of the pyramid.
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51} Draw the 2D figure that is the horizontal cross section of the pyramid.
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For problems 52-55, complete a two-column proof.

Moo up  youvr dvegram |

52) Given: NPRV is a parallelogram N P

Prove: AORW ~ AOPN
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53) Given: ABLAD, ZACD is aright angle

Prove: AABD ~ ACAD
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55) Given: AB || ED

Prove: (BA)(EC) = (ED}BC)
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fé) Construet agangent line from T to circle M,

f)
")\—( "M Write out the steps.
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\S/Q) Construct a circumscribed circle.




